REA UG NWA| FTILR =5 check |4EIR=E

K K& 1 0 2,800
RFFIK 3 1 11,200
i N 6 3 25,200
B4+ K 12 6 50,400
= 15 6.5 60,200
) 7 [ &R 1 0 2,800
EpN 10 4 39,200
WmEKX 6 3 25,200
N 3 15 12,600
BHEEF 3 2 14,000
R KE 7 35 29,400
HEXK 8 4 33,600
INIER "GN 7 35 29.400
BHi&X 9 45 37,800
o423 1 05 4,200
EmX 2 1 8,400
HZ X 9 45 37,800
REEX 1 05 4,200
R#HK 7 35 29.400
KEX 6 3 25,200
RKEKX 4 1 14,000
KK 4 2 16,800
K@K 1 0 2,800
AX 14 7 58,800
RKAFK 8 1 25,200
KEX 4 0 11,200
EPN 12 6 50,400
Z=R%& 2 0 5,600
R K 3 1 11,200
g K 3 15 12,600
UHIXK 3 15 12,600
HE) 9 45 37,800
YAl 9 45 37,800
BEXR 4 2 16,800
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&&t 197 87.5







